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Question Number : 1 Question Id : 7559053351 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Wwhere is the Recycle Bin lcon found?

Options:

1. % In Properties Dialog Box
2. % In Shortcut Menu

2. % On Hard Drive

4. % Cn Deskiop

Question Number : 1 Question Id : 7559053351 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:

1. % i ST aied §

2 ® gifpe i it

3 % EEEEdW

4 ' ZEFEIT U

Question Number : 2 Question Id : 7559053352 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
________ creates a unique, fixed-length signature for a message or data set.

Options:

1. % Popular key Algorithm
2. # Secrete Key Algorithrm
2. % Public Key Algorithim

4. % Hashing

Question Number : 2 Question Id : 7559053352 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:

1. % OTee &1 Oenieem

= % TEERT o Temiieers

2 % giectdr S TeATICH

4. ¥ gidm

Question Number : 3 Question Id : 7559053353 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

______ protections provide assurance that actual users are actually cormmunicating with the systems as
interided.

Options:
1. % Consistency

2. * Integrity



=, ¥ Authenticity
4. % Durability

Question Number : 3 Question Id : 7559053353 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:
1. % HFar-TEEIRaT gt (e e
o % argZdrarAr (S

3. & T aTe (TR
4 % FneT T ael (S e

Question Number : 4 Question Id : 7559053354 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

There are two variants of Triple DES known as ______.
Options:

1. ® 3-key Triple DES (3TDES) and 8-key Triple DES (8TDES).
2. ® 3-key Triple DES (3TDES) and 7-key Triple DES (FTDES).

{ )
{ )
2. % 3-key Triple DES (3TDES) and S-key Triple DES (STDES).
{ )

{
{
{
4, ¥ 3-key Triple DES (3TDES) and 2-key Triple DES (2TDES).

Question Number : 4 Question Id : 7559053354 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Teurer S (DES) & 21 wpre § g ______ T T &

Options:

1. % Z-git [Pua 21809 (STDES) & 8-F=i1 [g0a S120d (STDES)
2 % S-gel Toue E80F (STDES) W 7-F=1 [gua S1Ed (FTDES)
3. % -9l Toud 1509 (STDES) oW S-F=i1 [T S1E0d (STDES)
4 Z-geT Tioe 809 (STDES) o 2-gi1 [Ta SEud (2TDES)

Question Number : 5 Question Id : 7559053355 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Temporary filehas ______ file format.
Options:

1. % temp

z. % tm

3 % ipf

4, ¥ tmp

Question Number : 5 Question Id : 7559053355 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:

1. % temp

2 % tm



3 % tpf
4. ¥ tmp

Question Number : 6 Question Id : 7559053356 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
what is the extension for OpenOffice Writer docurment file?

Options:

1. % od
2 % dt
3.9 odt

4 % doc

Question Number : 6 Question Id : 7559053356 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

OpenOffice TgeT STAIHT HIEA &1 TFaca 747 &7
Options:

1. % od

2 % dt

=% odt

4. % doc

Question Number : 7 Question Id : 7559053357 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
file has 5V G file format.

Options:

1. ¥ Image file

2 % andio file

3. ® MS office docurnent

4. % Exarmple query

Question Number : 7 Question Id : 7559053357 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
TR BTt @1 SVG BTSa BIHC 1T 57
Options:

1. v =

2 % it

3. % M3 office ZTrgHT

4, ¥ TR FiT

Question Number : 8 Question Id : 7559053358 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which one is NOT a correct staternent with regard to Standby mode?

Options:
1. ¥ Does not draw electricity

2. % lses more power than hibernate mode



% % Dioes not shut down the computer

4, % Stores the current work in volatile ITIETTIOTY

Question Number : 8 Question Id : 7559053358 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:

1. ¥ Ty &1 |ud 951 FaT g

2 R gEa-c s ¥ i Mg fraua a1

3. % ST dg T EETE

4. ¥ iedn AARH o AE o F wE Y aaT

Question Number : 9 Question Id : 7559053359 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
If wou hawe installed more than one printer, how do you know the default printer among all the printers?

Options:

1. ¥ Printing document using each printer

2. ® Checking power button color of the printer

3. ¥ Checking properties [tick mark on printer in printer and faxes folder

4. % Checking color or type of the connected cable

Question Number : 9 Question Id : 7559053359 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Il o e O SifEe et wenfue (geTen Tram 51 1 e = fieet # & Ewiee ey &1 ugame ¥ s
Options:

1. ® yeder T ERT SEaTe T g0l &9

2. % e & UTeR ae @1 37 A1 @]

2. ¢ printer and faxes Wieet § et &1 00T} Tiew o2 T A (@8t @7 Ham) i #9

4 % g e (70 W T AT R AT

Question Number : 10 Question Id : 7559053360 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Printer isajan ______ device,
Options:

1. # input

2. ¥ output

= ¥ network interface

4. % internet provider

Question Number : 10 Question Id : 7559053360 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
e o ERCT
Options:

1. % gz

2 ¥ ATITT



3. ® JTad geag
4, ¥ TTrdT UEEET

Question Number : 11 Question Id : 7559053361 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
which of the following defect attributes denote the order in which defects need to be fixed?

Options:

1. % Cormplexity
= % Intensity
3. ¥ Priority

4. % Severity

Question Number : 11 Question Id : 7559053361 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
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Options:

1. % FRAGT (@t

2. % Tgar e

S, TRITHEAT (M)

4 ® iiwar (TR

Question Number : 12 Question Id : 7559053362 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Antivirus software @nti-virus software or AV software) is also knowtl as:

Options:

1. ¥ anti-malware
2 % anti-bugware
2. ® anti-hacker

4. % anti-trojanware

Question Number : 12 Question Id : 7559053362 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

TSR e ATFEcaR (8 - A0 SiFeday a7 AV Sede) & & ST A1 & 4 =7 Fa7 87
Options:

1. To-BFaaw (anti-malware)

2. % U SRR (@nti-bugware)

3. % Ui 8% (anti-hacker)

4, % U TEEE (@anti-trojanware)

Question Number : 13 Question Id : 7559053363 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Il general, the gramumar error 15 underlined with Colour,

Options:
1. ¥ red

2 % green



3 % yellow
4. % plue

Question Number : 13 Question Id : 7559053363 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
AT 1% 07, TR0 ie ®1
Options:

1. ¥ @

2 % o=

= ® e

4. ® e

Question Number : 14 Question Id : 7559053364 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
LAMN stands for:

Options:

1. ¥ Local Area Node

2. ¥ Local Area Network
2 ¥ Local Admin MNetwork
4. % Local Adrmin Now

Question Number : 14 Question Id : 7559053364 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

LAI &7 7ol & 7 5197 57

Options:

1. % #@a giar g (Local Area Node)

= & Fiwe T aeadr (Local Area Metwork)

3. % Fird DS Jeat (Local Admin Network)

4 % Fiwa T=iEE 917 Local Admin Now)

Question Number : 15 Question Id : 7559053365 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
What MAN stands for?

Options:

1. % Metropolitan Area Network
2. % Mass Area MNetwork

3. % Metropolitan Admin Networl:

4. % Mass Admin MNetwork

Question Number : 15 Question Id : 7559053365 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
MADN BT QU & T2 57

Options:

1. & Temiied T S2ad Metropolitan Area MNetwork)
= % gmy gieaT Sead (Mass Area MNetwork)



3. % Amiicled U= 0 Jeder (Metropolitan Admin Network)
4. % O Ustig Fead Mass Admin Network)

Question Number : 16 Question Id : 7559053366 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Ir1 M35 Word, Create envelopes isin _______ takb.
Options:

1. ¥ Home

2 ¥ Mailing

2. % Page layout

4 % References

Question Number : 16 Question Id : 7559053366 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

M5 Word # e taaeT _______ AH
Options:

1. % 7/

2. ¥ [T

3. ® O wTae

4 & g

Question Number : 17 Question Id : 7559053367 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
A& document in MS Word belongs to which of the following file formats?

Options:
1. ¥ docx
2 % pdf
3. % mml
4. % txt

Question Number : 17 Question Id : 7559053367 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
M5 Word H 0% Seater eieET wea saedt § & rae gateT 27

Options:
1.9 docx
. % pdf
3% xzml
4. % txt

Question Number : 18 Question Id : 7559053368 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
what do you understand by Versioning?

Options:
1. % In which only current version of file will save.

2. % Which cannot divide into newer and older copies



3. % Versioning cannot retrieve specific version of your files.

4, ¥ Saving new copies of your file.

Question Number : 18 Question Id : 7559053368 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
T (Versioning) & T 20T 9Hsld 57

Options:

1. % T I @7 dreled ad BT HEdeT el A0

2 ® o 2 ofie gt widat f T gt R = |

3. % AT TR TS| o TS e T qAie gl W e
4. ¥ e e i S miE T "

Question Number : 19 Question Id : 7559053369 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Wwhat are the basic area where superscript and subscript cannot be used among the following options?

Options:

1. ¥ Formulas

2. % Mathematical expression
3. ¥ Image

4, % Chemical compounds

Question Number : 19 Question Id : 7559053369 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:

1. ¥ §7 Forrmulas)

2. % Tt 22 (Mathematical expression )
=, o AR (mages)
4, ¥ e FifTE (Chemical compounds)

Question Number : 20 Question Id : 7559053370 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
If wou want to highlight text in bright color, then what will you use?

Options:

1. # Use Font Color

2. ¥ Use Text Highlight Color
%, % Use shading

4. % Use text effects

Question Number : 20 Question Id : 7559053370 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

AT AT doe T IHFER U1 H BIEAEe BT AEd 5, da AT TRt SUmn Fir?
Options:

1. ® miT oo o7 JUT Eer

2. ¥ IFET ETEATEe Hoad T SO Hi




3. % T T Iu w
4, % TFET ST mT SN FET

Question Number : 21 Question Id : 7559053371 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
which of the following staterments is FALSE?

Options:

1. ® word autormatically inserts a page break at the end of each page when we create a docurment,
2. % We can manually add a page break somewhere else in the document.

3. % Wwe can always delets a page break that we have added.

4. ¥ We can remove one that Word automatically adds at the end of each page.

Question Number : 21 Question Id : 7559053371 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
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Options:

l.pﬁ el BH U STFAHT ST 3 a1 Hedeh U1 o ST § 92 S0 3710 5 U SleF S+ee. ea gl
2 % gmeiagHe § Rl of A-gard ©7 € U s s 9@ 3l

3. % FH THAT U UL U S T §CT Gd & e gHe SIS gl
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Question Number : 22 Question Id : 7559053372 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
_____ is the process of digitising the amplitudes of image intensity values.

Options:

1. % Quantization
2. % Encoding

= % sampling

4. % Packetizing

Question Number : 22 Question Id : 7559053372 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
_____ Tl 3 a1 AT o AT F TR e Fe @ i 8

Options:

1. & FTiea~ta (AT )
2 ® e

2 ® e

4. % Wi

Question Number : 23 Question Id : 7559053373 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
What is the size of host Lits in class B of [P address?

Options:
1. % 4
> 1B



3% 32
4 ® 3

Question Number : 23 Question Id : 7559053373 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:

1. % 4

= ¥ 18

3% 32

4 % g

Question Number : 24 Question Id : 7559053374 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Howr many symbols can be represented by 1 byte?

Options:
1. % E4
2. 0% 128
3. ¥ 2C56
4 % 512

Question Number : 24 Question Id : 7559053374 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
1 @ ZT Tofa= W o 0l TTerea e = derar 27

Options:
1. % 4
2. % 128
3. ¥ 256
4 % 51z

Question Number : 25 Question Id : 7559053375 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
which of the following interfaces does MOT allow a CD-ROM and other disc drives to connect to a computer?

Options:

1. % SATA

2. % SCE]

2. % [DEJATA

4. ¥ BARDA

Question Number : 25 Question Id : 7559053375 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

AT 8 & %9 47 5ot CD-ROM T oy 12%% Z15d @1 et & @-ige @ ol alguid 51 ol 27
Options:

1. % SATA

2. % 5C5]




3. % IDE/ATA
4. ¥ BARDA

Question Number : 26 Question Id : 7559053376 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
which of the following interrupt generating devices will be serviced by the CPU first?

Options:

1. #* Kevboards

= ¥ Magnetic disk
3. ® Mouse

4. % Joystick

Question Number : 26 Question Id : 7559053376 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
i g Famed HEfeET o & @19 @ e soug w anwt Zaea o et ) R smome

Options:

1. % #HEg (Keyboards)

2. ¥ graid EeF (Magnetic disk)
= % @rad Mouse)

4, % Frgiesw (Joystick)

Question Number : 27 Question Id : 7559053377 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Floppy disks come in which of the following sizes?

Options:

1. % 5-1}4inchand 3-1/2 inch
2 % 5-1/2inch and 3-1/4 inch
3. % S-1/d4cmand 3-1/2cm
4 % c-1/2cmand 3-1j4cm

Question Number : 27 Question Id : 7559053377 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
ot o & o T 2ew &7 S T2 5T 87

Options:

1. % 5-1/4inch and 3-1/2 inch
Z % S-1/zinchand 3-1 /4 inch
3% S-1/decmand 3-172 cm
4. ® S-1/2cmand 3-1/4cm

Question Number : 28 Question Id : 7559053378 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Howr 1o switch from the current window to the next window, when more than one windows ara open?

Options:
1. % SHIFT + FZ2
= # SHIFT + F&



3. % ALT +F8
4. % CTEL + F&

Question Number : 28 Question Id : 7559053378 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

A AT T T & AT Tt o R R e, e U 9 e et g gl
Options:

1. # SHIFT + F2

= % SHIFT + F&

3. % ALT +F&

4 % CTRL + F&

Question Number : 29 Question Id : 7559053379 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
In Excel, to extract the significance from a large, detailed data set, which of the following is used?

Options:

1. % Sorting

2. ¥ Pivot table

3. % Conditional Formatting

4. % Tab Delarminating

Question Number : 29 Question Id : 7559053379 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:

1. % T (Sorting)

2 UEdT dEd (Fivot table)

%, % FiZaHd BT (Conditional Formatting)

4, ¥ T BT (Tab Delaminating)

Question Number : 30 Question Id : 7559053380 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Modern digital cameras have:

Options:

1. * Parallel 38 pin port
2. % VGA port

3. % P52 port

4. ¥ FireWire port

Question Number : 30 Question Id : 7559053380 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

ST T Rreet Fuet & Rrgleras & & o gaT 27

Options:
1. % (@A@Y 36 U9 012 JParallel 26 pin port

2. % FET O (VGA port)



3. % P5 | 201 (P52 port)
4, & BERETR Ui (FireWire port)

Question Number : 31 Question Id : 7559053381 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

which device provides the signal to produce the sound that comes from a computer speaker?
Options:

1. % Sound Card

2. % Graphic Card

2. ® Music Card

4. % Memory Card

Question Number : 31 Question Id : 7559053381 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
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Options:

1. % \r3s w12 (Sound Card)

2. % it #1E (Graphic Card)
3. % g@riT #12 Music Card)

4, % guier w12 (Memory Card)

Question Number : 32 Question Id : 7559053382 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
ATAT 15 an input device that reads bank cheques,

Options:

1. % Magnetic Ink Character Reader
2. % Optical Mark Reader

3. % Optical Character Reader

4 % Joystick

Question Number : 32 Question Id : 7559053382 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
TE______ T ST [EaTSH ¢ AT ol o U o)
Options:

1. & Bufewr 5o ey U= (Magnetic Ink Character Reader)
2. % affftaed U TS (Optical Mark Reader)

3. % affitaed dide L= (Optical Character Reader)

4, % FrErw (Joystick)

Question Number : 33 Question Id : 7559053383 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
sorne digital cameras that use wirgless conneactions use this standard:

Options:
1. % [EEE 802.1
= % [EEE 802 2



3. % [EEE 802.15
4. % [EEE 802.11

Question Number : 33 Question Id : 7559053383 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
TR Foriepa 1 JUAAT A ATel JF TS TAICe P B HI-F BT U0 &l &

Options:

1. * [EEE 802.1
= % [EEE 8023
3. * [EEE 202.15%
4 % [EEE 30211

Question Number : 34 Question Id : 7559053384 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Inventor and founder of Wi is:

Options:

1. % BEill Gates

2. % Timothy Bill

2. ¥ Tim Berners-Lee
4. % I Russel

Question Number : 34 Question Id : 7559053384 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Options:

1. % ATy

2. ® Tt e (Timothy Eill

3. ¥ T a9 Al (Tim Berners-Lee)
4 ® 79 A (M. Russel)

Question Number : 35 Question Id : 7559053385 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
& message with replies on a newsgroup is often called a:

Options:

1. * post

. % list

3. ¥ thread
4. ® comrment

Question Number : 35 Question Id : 7559053385 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
I T O e ATel o S ST __ TFET ATAT 3]

Options:

1. % gre
2 %t



o v ez
4. ¥ Trguft (e

Question Number : 36 Question Id : 7559053386 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Most websites havea ______ , which acts as a doorway to the rest of the website pages.
Options:

1. % search engine

= ¥ home page

2. ® browser

4 * contact form

Question Number : 36 Question Id : 7559053386 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

TR AT U _______ 21T 2, o ATeTA & daeTge o el & O o gl
Options:

1. % wf e

2 ¥ U

3. % W

4. % Fiige nrd

Question Number : 37 Question Id : 7559053387 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

If you wish to be directad to a site you often use, instead of having to type in the address every time, you
should .

Options:

1. % make a copy of it
2. % saveitasa file
2. ® memorise it

4 % bookmark it

Question Number : 37 Question Id : 7559053387 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
fe AT ToreT Uit WTge o e iaa g o1 52T a3 Tore ST ST JUIT Fd 3, 97 5% 1 US® 2150 B o ehafrd, e

Options:

1. % Zaeh! g Il (Wi

2. % =H UF WIEA & Jig o
3. % @R

4 gH g

Question Number : 38 Question Id : 7559053388 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

In M5 PowerFoint, which of the following is NOT a presentation view?
Options:

1. % 3Slide Sorter



2. % MNormal
2. % 5lide Master

4 % Outline View

Question Number : 38 Question Id : 7559053388 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
M5 PowerPoint #, Fafaes # & =19 a1 uw wegid g 951 87

Options:

1. % TaTEs ATt (Slide Sorter)
2. % S Mormal)

3. ¥ TaEs AT (Slide Master)
4. % ATITAEA = (Cutline View)

Question Number : 39 Question Id : 7559053389 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Joint Photographic Experts Group (JPEG) is used to comprass:

Options:

1. ¥ Images
= % Music
3. ® Sounds

4 % Doc files

Question Number : 39 Question Id : 7559053389 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
SAST WIE Tt erede g0 (JPEG) & 3T

Options:

1. ¢ g (mages)
2. % T Music)
2. % iy (Sound)
4 % ZTF BIEa

TtiET F & T Tomar T 8

Question Number : 40 Question Id : 7559053390 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0
What 15 the key combination to display the Macro dialog box to run a macro in M5 Excel?

Options:

1. ¥ ALT + F2

= % CTRL + ALT + F9
3. ® CTEL + SHIFT + _
4 % CTRL +F9

Question Number : 40 Question Id : 7559053390 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

M5 Exccel H, Aol et o o7 Aer! T, 19d & UG idd @i & 1o gl da = & 87
Options:

1. % ALT +F3



2. % CTEL + ALT +FS
3. ® CTEL + SHIFT + _
4 % CTREL +F3a

Question Number : 41 Question Id : 7559053391 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

In M5 Excel, which of the following functions is used to add the values in the function argument or the values
in the all references in the argument?

Options:

1. % ADD
2. ¥ SUM
3. % TOTAL
4, % LIST

Question Number : 41 Question Id : 7559053391 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0

MS Excel # Tog # & #1997 Urere T amiHea ® A @1 e a7 amidze & it dedt § At @t e & ey g e ST g
Options:
1. % ADD

2. ¥ SUM
3. % TOTAL
4 % LIST

Question Number : 42 Question Id : 7559053392 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
type of marking is also known as onscreen marking.

Options:
1. % Electronic

2. % Offline
3. % Whiteboard
4. % Storyboard

Question Number : 42 Question Id : 7559053392 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

WeRTY o e 1 afTeear i aler T @ 3
Options:

1. g

2. % HTheTEd

Z % mEealE

4 % TATHE

Question Number : 43 Question Id : 7559053393 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
EHIM app has been named after .

Options:
1. # Bhim of Pandavas



2. % Mahatma Gandhi
2. % Pandit MNehru
4 % Dr. ER Ambedlkar

Question Number : 43 Question Id : 7559053393 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
e T T ATHET & ATH UE TeT T Al

Options:

1. % gEat e 4w

2. % mEreHT et

3 ® gizgage

4 ¥ ET &1 R HEEE

Question Number : 44 Question Id : 7559053394 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
=Y chart, alias:

Options:

1. #* Bar chart

= ¥ Scatter chart
3. ® Pie chart

4. % Stock chart

Question Number : 44 Question Id : 7559053394 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
XY chart, alias:

Options:

1. % Bar chart

2. % Scatter chart
3. % Pie chart

4 % Stock chart

Question Number : 45 Question Id : 7559053395 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0
——__ Chart similar to 2-D topographic maps, are surface charts wiewed from abowve in MS Excel.

Options:
1. ¥ Contour
= ®HY
3. * Pie

4 % Ear

Question Number : 45 Question Id : 7559053395 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

___ =T A 2-D TIARE (e M The) AT & G0 5id 8, MS Excel # 00 & o & &8 1 oTet @06 1 51d 2
Options:

1. ¥ ®IiT



o By
I % O
4 ® gw

Question Number : 46 Question Id : 7559053396 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

To get automatically updated title in the chart, you can
Excel.

chart title 1o fwith sorme cell on the sheet in M3

Options:

1. # add

2. % connect
2 ¢ link

4. % attach

Question Number : 46 Question Id : 7559053396 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0
o H EFd BT e e UTH w o B & o, MS Excel H, dffe ux Rt ot @7 o) G a1 w7 il

Options:

1. % Sz (o)

2. % AT (Fa

3. ' e ey T E)
4, ¥ HeAY w (D)

Question Number : 47 Question Id : 7559053397 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
which of the following events is in the correct order to Print a chart in MS Excel?

Options:

l.p #® Click Microsoft Office Button > Click the chart > Click Print
2. ¥ Click the chart > Click Microsoft Office Button > Click Print
= % Click Microsoft Office Button » Click Print » Click the chart
4. % Click Microsoft Office Button » Click Print

Question Number : 47 Question Id : 7559053397 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

TaET # & B | 92T M5 Excel H#oE e e F WU ag i #A H 27
Options:

1. ® AEwEMETT AT Je- U Toem @ > O Ut oo o > e o Toem @
2. % T Uy e > HIEw T ST ded U feerw @ > e o7 feerer @
2. % OEENErE M "aT Ut e @ > 1T 07 Toe @ > =1 Uv Tde @

4 % OEEEITT AT g Ut Toe @ > e O T @

Question Number : 48 Question Id : 7559053398 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

To emphasise the total in case of multiple data series chart is useful in MS Excel.

Options:
1. ® pie



2 * line
2. % stacked colurmn

4 % syrface

Question Number : 48 Question Id : 7559053398 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
WS SCT AT o HIHe H el O AR el o 161 ______ oATE M5 Excel # It 81

Options:

1. % o=

2. % FEd

3.V wtw BIen
4. % [

Question Number : 49 Question Id : 7559053399 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

which is an important component of computer in which all parts of the computer cormmunicate with each
other?

Options:

1. % Mouse

2. % Kevboard

3. ¥ Motherboard
4 ® LCD

Question Number : 49 Question Id : 7559053399 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

SRCAE T U HgeanUl Eed i w7 & Rt shoae &t T U g o aRT S w27
Options:

1. * #A3q MMouse)

2. % FEE [Keyboard)

= ¥ mEEE (Motherboard)

4 % UAEET (LCD)

Question Number : 50 Question Id : 7559053400 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Howr to open the Bun box in Windows 37

Options:

1. % Left click on desktop

2. % Double click on Windows button
2. ¥ Right click on Windows button

4. % Right click on desktop

Question Number : 50 Question Id : 7559053400 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

T 8 # ¥ Jlad el EATAaT s 7

Options:

1. % 2¥we™ W ar-Taod ®¢ (Left click on desktop)




= % Hze aea W Ead e @ (Double click on Windows buttor)
=, ¢ TdE Te9 uT T igee #¢ (Right click on Windows button)
4, ¥ ZEgem U¥ U5 For @ (Right click on desktop)

Question Number : 51 Question Id : 7559053401 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
_____ algorithm is used for encoding the data.

Options:

1. ® Program
2. % Code

3. % Key

4. % Cipher

Question Number : 51 Question Id : 7559053401 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

_____ UG T SO 2T @1 T ST o o] TR =TT gl
Options:

1. % g (Prograrmm)

2 ® P (Code)

= % & (Key)

4, ¥ Tt (Cipher)

Question Number : 52 Question Id : 7559053402 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
which of the following commands is used to display wersion of Windows?

Options:

1. % Winver
2. % Wwnire

3. % Wirey

4. % Winacoo

Question Number : 52 Question Id : 7559053402 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0

T 8 @i d wrie W o e @ na s we o To SuRi g ST ge
Options:

1. ¥ Winver

= # Wnire

3. ® Wirey

4. % Winace

READING COMPREHEMNSION

Section Id : 755905370
Section Number : 2
Section type: Online

Mandatory or Optional: Mandatory



Number of Questions: 1

Number of Questionsto be attempted: 1

Section Marks: 5

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number : 1
Sub-Section 1d: 755905370
Question Shuffling Allowed : Yes

Question Id : 7559053403 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (53t057)
Juestion Label - Comprehension

Read the given passage and answer the questions.
Charity

Each vear our foundation receives hundreds of letters asking for monetary help for different purposes such as
higher education, wedding, medical help and so on.

we verify the genuineness of each case and give about Sixty to eighty percentage of the money asked for.

As a child, [ was very fond of atlases. In my village, it was difficult to get one. So when [ started my
foundation, [ decided to distribute atlases free to school libraries so that children could see the country and
the world and learn the vastness of the planet they lived in. Later teachers would come to my office requesting
for free copies for their schools.

Once [ was travelling in the rural parts of Karnataka. Evening had set in. [ could smell the aroma of fresh
groundnuts from somewhere. & farmer was sitting with a pile of freshly plucked groundnuts in front of a
schocl gate. [ was termpted. [ decided to buy a lalo.

He weighed the groundnuts and gave thermn loose to me. [ asked if he could help me get a bag from somewhere.
He thought for a minute, then turned to his young assistant and said, “Run to the school, the classrooms are
still open. Look for a big red book with thick pages. Tear one and get it.”

The boy ran into the school and returned with a colourful page. He put the groundnuts on it. [ looked closely
and realized it was a page from one of the atlases I had donated to the school some time back. [ was shocked.

“Why did you tear the page frorm this book?” I asked. The man answered, “Ch, some lady gives these books
free to the school. The paper is nice and thick so we use it sometimes for wrapping things.”

Then seeing the shocked look on my face he said timidly, “We do it only when we rneed paper in a hurry, rnot
otherwise.”
I looked down sadly at the pack. In that dim light, I could rot mistake the seal of our foundation.

Sub questions

Question Number : 53 Question Id : 7559053404 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
The writer set up his foundation to:

Options:

1. * help schools set up libraries

2. % verify applications asking for monetary help
2. % distribute free books to school children

4. % give monetary support to genuinely needy cases



Question Number : 54 Question Id : 7559053405 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
The author warted to buy groundnuts because he:

Options:

1. # had not eaten the whole day

2. % was tired after a day long journey

2. ¥ found the smell of groundnuts very inviting

4. ® wmanted something to eat as a snack

Question Number : 55 Question Id : 7559053406 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
The poor farmer often pulled out a page out of the atlas because:

Options:

1. # it was nice and colourful

2. ¥ it was strong enough to hold the groundnuts
% % it could be torn easily

4. % no one had paid for the book

Question Number : 56 Question Id : 7559053407 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
After his encounter with the groundnut seller, the narrator felt:

Options:

1. % upset

2. % irritated

3. % dissatisfied
4. % apologetic

Question Number : 57 Question Id : 7559053408 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
The core message that the story gives us is:

Options:

1. # charity should not carry any tag
2. ¥ anything given free has no value
3. % one must donate generously

4. % pooks should always be given free

Question Id : 7559053403 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (53 to 57)
Cesticn Label | Comprehension
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Sub questions

Question Number : 53 Question Id : 7559053404 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
FIe 0 EeerTe T e e fon & ot

Options:

1. % Hgdll O qEaaTad] & T 8 g e o fond

2. ® miigm Gyt W GTl HTeE-T P Fearii - & @
3. ® Tt ol B gud et et @ o

4, & FEFiE ETHS AIAAT H AieE 9EredT o o oy

Question Number : 54 Question Id : 7559053405 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

oI Wl T FEIAT 41 ATgdT a7

Options:

1. % o qy fad @ 951 =@ am

2. % I T o /e 13T & TS S5 T 4
3. T TG Dl T g TR Fi

4 % g A1ed & 0 H FF @1 agaT oM

Question Number : 55 Question Id : 7559053406 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

T el TeaT WTer: Uead o U U5 IS ¢ d15¢ Fa1 = Te 6T deaT 17
Options:

1. % g SwET & T3 om

2. ¥ oI UIhe! arer o ol T Aled <m



3. % = T BIST AT AT 4
4 % ueqe o e Tt = ot AT gt e am

Question Number : 56 Question Id : 7559053407 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

TR T TelelalT 2 |1 FERT ATHAT-HTHAT Bl o alg Fre = T Tpge e
Options:

1. ¢ gearHt

2. % RrETEem

z % amEge

4. % st

Question Number : 57 Question Id : 7559053408 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
g R EH 4T §ET T dal g7

Options:

1. % g W EE it T g Ay

2. ¢ g B 51 ME Rt ot ey T A g el T
3. ¥ ERATd T weAT AR

4, % TEqTe gHAT GO of AT AR

QUANTITATIVE AFTITULE

Section Id : 755905371

Section Number : 3

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 6

Number of Questionsto be attempted: 6

Section Marks: 6

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 755905371
Question Shuffling Allowed : Yes

Question Number : 58 Question Id : 7559053409 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

In how many different ways can the letters of the word ‘FRAISE be arranged?
Options:

1. ¥ 720

= ® B10

3. % 360

4. % 210



Question Number : 58 Question Id : 7559053409 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
ez ‘PRAISE' @ a4l T Tehd= ST7T-3IcTT Jieh] o SOaie2rd [rar AT 9 dT o7

Options:

1.9 720
Z ® B10
3. % 260
4. % 210

Question Number : 59 Question Id : 7559053410 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

What approximate value will come in place of question mark (7) inl the following question? (You are MOT
expected to calculate the exact value).

499,99 + 1999 £+ 3999 < S001 =7
Options:

1. % 3200

= ® 2700

2. % 2000

4. % 2500

Question Number : 59 Question Id : 7559053410 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
TR wa o maiEg (7) & I W AT HT FT Y (ST | JT 9 0T A el )

49999 + 1989 - 3999 5001 =7
Options:
1. % 3200

2. % 2700
2. % 2000
4. % 2500

Question Number : 60 Question Id : 7559053411 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
What approximate value will come in place of question mark (?) in the following question?

(You are NOT expected to calculate the exact value.)

(49.99)2 — (8.9)2 —(15.92 =7
Options:

1.9 2185

= % 2000

3. % 1965

4. % 1920

Question Number : 60 Question Id : 7559053411 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



AT W97 H TIATEA (7) F T 9T PR A ST AR (W9 W AT T 0T A9
FA 21)

(49.99)° - (8.9)° - (15.9)* = ?

Options:
1. % 2165

2. % 2000
3 % 1985
4 % 1920

Question Number : 61 Question Id : 7559053412 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

There are sorme parrots and some tigers in a forest. If the total number of anirmal heads in the forest is 858
and the total nurmber of animal legs is 1,846, what is the number of parrots in the forest?

Options:

1. % 245
2. % 233
2% 200

4. % 793

Question Number : 61 Question Id : 7559053412 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

el ST B g did 3 F7 aer g1 Afe o H wapelf @ TE7 & wear 855 § ol uggell @ 0Xf &1 et &% 1,846 2, F1<ma # 91
Options:

1. % 245

2. % 833

2% 200

4. ¥ 793

Question Number : 62 Question Id : 7559053413 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
A bag contains 7 blue balls and 5 vellow balls. If two balls are selected at random, what is the probability that
none is yellow?

Options:



.
4 % 33

Question Number : 62 Question Id : 7559053413 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:

. % 33

L
%
]
X

7
33

Question Number : 63 Question Id : 7559053414 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Read the following question followed by three staternents [, II and III carefully. You have to study the question
and the staterments and decide which of the statement(s) is/are [eCessary to answer the question,

ari Gupta borrowed a surn at cornpound interast. What 1s the amount returned in 2 years?
[. The rate of interest is 5% per annurm.

I[I. The simple interest incurred o the sumin 1 year is 000,

III. The borrowed surr 15 ten fiures the amount earned at simple interest in two years.
Options:

1. % COnlyl

2. % Only 111

3. % Both I and I1I

4. % Either I or III

Question Number : 63 Question Id : 7559053414 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:
1. % Fadl

o ® FEA I
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GEMERAL MENTAL ABILITY AND EEASONING

Section Id : 755905372

Section Number : 4

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 6

Number of Questionsto be attempted: 6

Section Marks: 6

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 755905372
Question Shuffling Allowed : Yes

Question Number : 64 Question Id : 7559053415 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Answer the question referring to the symbol-letter-number sequence given below;
2PI@ESELBIVH#QO6iGWIOKCDE£5FRTAY 4

Three of the following four are similar in relation to their positions in the above sequence and hence
form a group. Which one does NOT belong to that group?

Options:

1. ¥ QK5
2 ¥ 36D
. ®PES
4 %160

Question Number : 64 Question Id : 7559053415 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:

1. ¥ QK5
2 ¥ §ED
3 ®PES



4 ¥ 150

Question Number : 65 Question Id : 7559053416 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

Lise the following series of elements (letter-number-symbaol) ro answer this question. Every two-digit numbear
(given in brackets) is to be treated as single number,

I¥ESEBOSQIELITRDAE(INU@K(I8) A (L4)F

Three of the following four groups of elements are alike in a certain way and so form a Zroup.
Which is the one that does NWOT belong to that group?

Options:

1. %0839
2. ¥ SEER
3. ¥ 13E
4 ®DR7

Question Number : 65 Question Id : 7559053416 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:

1. %049
2 ¥ CEER
3. ¥ 13E
4 ¥ DR7

Question Number : 66 Question Id : 7559053417 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

which of the following words will come third if all of them are arranged alphabetically as in an English
dictionary?

Options:

1. % Prominent
2 % Prohibit
% % Promise

4, % Prolong

Question Number : 66 Question Id : 7559053417 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:

1. ¥ Prominent
2. % Prohibit
2. % Promise

4. % Prolong

Question Number : 67 Question Id : 7559053418 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

which of the following words will come third if all of them are arranged alphabetically as in an English
dicticnary?

Options:

1. % Descant
2. % Descent
2. % Derive

4 % Derrick

Question Number : 67 Question Id : 7559053418 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0
AR Teg, o T 8 i @7 e = U SIS Jegmier & STgan auligwd § saaiead 21 =IaT &, a1 § 6¢ #20 0T P19 9T Teg,

Options:

1. % Descant
2. % Descernt
2. % Derive

4. % Derrick

Question Number : 68 Question Id : 7559053419 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Wwhich of the following is the same as Cygnus, Fleiades and Scorpio?

Options:

1. % Sirius
= % Crion
2% Venus
4. % Yega

Question Number : 68 Question Id : 7559053419 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
TEmET § | B A7 U, WiUsd o g & q0E 57
Options:

1. % #tfeow

2 ¥ i

3 % g
4 % gmr



Question Number : 69 Question Id : 7559053420 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Select the option that is related to the fourth number in the same way as the first number is related to the
second nurmber.

B 130::7: 350
Options:

1. % 210

2. % 216

3. ¥ 222

4. % 240

Question Number : 69 Question Id : 7559053420 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
I AT BT T P AT T FEAT  FE TG Felrad § A a0 Uge AT GH ST § Fe e 5l
B8 1=30::7: 250

Options:

1. % 210

2. % 218

3.9 222

4. % 240

GENERAL AWARFENESS

Section Id : 755905373
Section Number : 5
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 6
Number of Questionsto be attempted: 6
Section Marks: 6
Display Number Panel: Yes
Group All Questions: No

Sub-Section Number: 1
Sub-Section 1d: 755905373
Question Shuffling Allowed : Yes

Question Number : 70 Question Id : 7559053421 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
©n whose name is the highest award for services to the developrment of cinerma given?

Options:

1. % Meena Kumari

2. % Raj Kapoor

2. ¥ Dada Saheb Phalke

4. # MNone of given options



Question Number : 70 Question Id : 7559053421 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:

1. % dr g

2. ® TR WY
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Question Number : 71 Question Id : 7559053422 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
which amorng the following famous dancers is NOT an exponent of the Odissi dance style?

Options:

1. % Sonal Man Singh

2. # Sanjukta Panigrahi

2. ¥ Vamini Krishnamurthy

4. % Madhawvi Mudgal

Question Number : 71 Question Id : 7559053422 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:

1. % OFe g g

2. ¥ g A

3. AT el

4 % [rert ggd

Question Number : 72 Question Id : 7559053423 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
The term ‘Ducle is associated with which sport?

Options:

1. % Football
2. # Yolleyball
2. ® Golf

4 % Cricket

Question Number : 72 Question Id : 7559053423 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
‘Duck’ g T Ge & |17 2T G 37
Options:

1. % e

2. ¥ gTetare

3 % TEE

4 Tphe



Question Number : 73 Question Id : 7559053424 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Cuesta form plain is formed by _____
Options:

1. # the sand particle

2. ¥ the resistant strata standing as inters ream ridge with broad low hands
3. # the wave action

4 % the wind action

Question Number : 73 Question Id : 7559053424 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:
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Question Number : 74 Question Id : 7559053425 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
which of the following staterments correctly describes the Forth schedule of the Constitution of India?

Options:

1. ¥ It lists the distribution of powers Detweern the union and the states.
2. % [t contains the languages listed in the constitution.

3. ® [t contains the Provisions regarding adinistration of tribal areas.

4. ¥ It allocates seats in the council of states.

Question Number : 74 Question Id : 7559053425 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:
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Question Number : 75 Question Id : 7559053426 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
In Indian polity, which of the following is the supreme?

Options:

1. # The Supreme Court
2. ¥ The Constitution

3. % The Parliament

4. % Religion



Question Number : 75 Question Id : 7559053426 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:

1. ® waly ~amaeg
2. gl

3 % @ag

4 % et
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Group Id: 755905202
Group Maximum Duration : 5

Group Minimum Duration : 5
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Revisit allowed for edit? : No

Break time: 1
Mandatory Break time: Yes
Group Marks: 0

English Typirg Test

Section Id : 755905374

Section Number : 1

Section type: Typing Test

Mandatory or Optional: Mandatory

Number of Questions: 1

Number of Questionsto be attempted: 1

Section Marks: 0

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 755905374
Question Shuffling Allowed : No

Question Number : 76 Question Id : 7559053427 Question Type: TYPING TEST Display Question Number : Yes

Surmimer camps are supervised camps conducted to entertain as well as equip students with various life skills
such as tearmwork, socializing, decision making, independent and responsible living and more. [t aids the
overall development of a child and children hawve fun during this process as they get to explore new arenas.
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Group Id: 755905203
Group Maximum Duration : 15

Group Minimum Duration : 15

Revisit allowed for view? : No

Revisit allowed for edit? : No

Break time: 0

Group Marks: 0

English Twyping Test

Section Id : 755905375

Section Number : 1

Section type: Typing Test

Mandatory or Optional: Mandatory

Number of Questions; 1

Number of Questionsto be attempted: 1

Section Marks: 0

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 755905375
Question Shuffling Allowed : No

Question Number : 77 Question Id : 7559053428 Question Type: TYPING TEST Display Question Number : Yes

Ermployers use resumes throughout the hiring process to learn more about applicants and whether they rmight
be a good fit. Your resurne should be easy to read, highlight relevant experience and surmmarize your
accomplishments and skills. Eelow are a few tips to help vou write a great resurme. Look for keywords in the
job postings. The best place to start when preparing to write a resurme is to carefully read the job postings that
interest you. As you apply for different jobs, you should study each job description for keywords that show
what the emplover is looking for in an ideal candidate. Include those keywords in your resurmne where relevant.
In simple words, if vou hawve the skills that employers are looking for, you can add these same terms to your
resume in the experience or skills sections. Review resurme examples for vour industry. When crafting your
resume, you rmight study examples of resurmes from your industry for inspiration and best practices. While
there are many ways you Carl use resume sarmples, there are three main takeaways you should look for. Make it
simple and easy to read. Resume samples are simple and straightforward. This is because employers have a
minimal amount of time to review your resume. So, readability is the key. This also means selecting a
professional, clean font. Make it brief. You will notice that each section of the resume sample is short and to-
the-point, including the surmmary and experience descriptions. Including only the most key and relevant
information means employers are able to consurme more information about you, and more quickly understand
vour fitness for the role. Include numbers. You might also notice that there are often metrics included in the
experience section of resume samples. This is because employers are highly responsive to measurable prover
value. MNurnbers allow therm to better understand the value yvou may bring to the position. Whern using resurme
sarnples, vou should keep in mind that these are not meant to be copied exactly. While you should avoid using
therm as a termplate, samples are useful as examples of high quality resumes in your industry and job title. You
should also make sure to reduce or eliminate any extra white space. Too muach blank space might rmake your
resume look distracting to the andience. By reducing extra white space, vou make it easier for the resume
reader to focus only on the content of your resume instead of the white spaces. Put the most important
information first. While vou might hawve extensive work or educational experience, it is important to keep your
resurmne as brief as possible without leaving out key information. Hiring managers do not spend a lot of time
reading each resurmne. Eesearch has showr that hiring managers tend 1o spend only Six secornds per resurrne.
Try to imnclude only worl: experience, achievernents, education and skalls, which are most relevant to the
ermployer. You should prioritize important information higher on your resurme to draw attention to key skills
arnd achievermnents.

Restricted/ Unrestricted: Unrestricted
Paragraph Display: Yes



Evaluation Mode: Non Standard

Keyboard Layout: Inscript

Show Details Panel: Yes

Show Error Count: Yes

Highlight Correct or Incorrect Words: Yes
Allow Back Space: Yes

Show Back Space Count: Yes



